@ k @ @ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
2,681 x 100000 = 9,435 x 10000 =
5,962 x 1000 = 3,081 x 10000 =
4, 602 x 1000000 = 7,814 x 10000 =
1,35 x 1000000 = 9, 809 x 10000 =
5,264 x 10 = 9,615 x 1000000 =
10, 842 x 1000 = 10, 791 x 10000 =
3,271 x 10 = 3,761 x 1000000 =
4,55 x10 = 7,098 x 10000 =
3,491 x 10000 = 2,9 %1000 =
6, 699 x 100000 = 9,107 x 100000 =
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@ G/i) E @ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
2,681 x 100000 = 268100 9,435 x 10000 = 94350
5,962 x 1000 = 5962 3,081 x 10000 = 30810
4,602 x 1000000 = 4602000 7, 814 x 10000 = 78140
1, 35 x 1000000 = 1350000 9, 809 x 10000 = 98090
5,264 x 10 = 52.64 9,615 x 1000000 = 9615000
10, 842 x 1000 = 10842 10,791 x 10000 = 107910
3,271 x 10 =32.71 3,761 x 1000000 = 3761000
4,55 %10 =455 7,098 x 10000 = 70980
3,491 x 10000 = 34910 2,9 x 1000 = 2900
6, 699 x 100000 = 669900 9, 107 x 100000 = 910700
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